

$$\underline{Y_0}$$

$$\log_m^n = \log_{n \cdot n}^n = \log_{n^{a+1}}^n$$

أفريقس السير A - 1

$$\log_{mn} m^n = b \Rightarrow \log_{mn} m + \log_{mn} n = b$$

$$\hookrightarrow \frac{a}{a+1} \log n \Rightarrow b = 1 + \frac{a}{a+1} \quad 0 < \frac{a}{a+1} < 1 \quad (\gamma)$$

$[b]_5 = 1$ ✓

(الف) $\sqrt{\frac{x}{\log \frac{x}{\frac{1}{r}}}}$

$$n > 0 \quad \text{I}$$

$$\log \frac{1}{x} \neq 0 \Rightarrow x \neq 1 \quad II$$

$I \cap II \cap III = \begin{pmatrix} 0 & 1 \\ n > 0 \\ n < 1 \end{pmatrix}$ ✓

② - 1

$$\frac{n}{\log n - \frac{1}{2}} \sim \frac{0}{-} \frac{1}{+} \frac{1}{-} \quad [I]$$

$$b) \frac{\log (x^2 - x - 1)}{\sqrt{x^2 - 1} + 1}$$

$$\begin{aligned} n^2 - n - 1 &> 0 \\ (n-1)(n+1) &> 0 \end{aligned}$$

$$\begin{array}{c} -1 \quad 1 \\ \hline + \quad - \quad + \end{array}$$

$$(-\infty, -1) \cup (r, +\infty) \quad I$$

فرضیه سبب $\sqrt{x^2 - 1} + 1 \neq 0$

$$2^x - 1 \geq 0 \quad 2^x \geq 1 \quad (-\infty, -1] \cup [1, +\infty) \quad \text{II}$$

$$I \cap II = (-\infty, -1) \cup (1, +\infty) \quad \checkmark$$

$$\left. \begin{aligned} r \log a + \log r &= r \\ r \log r + \log a &= r \end{aligned} \right\} \begin{aligned} \log a + \log r &= r \\ t + \frac{1}{t} &= r \end{aligned} \quad \begin{aligned} t + 1 - rt &= 0 \\ (t-1)^r &= 0 \\ t=1 \quad n \end{aligned}$$

$$t^r + 1 - r t = 0$$

$$(t-1)^2 = 0$$

$$t=1 \quad n > \log a = 1 \Rightarrow \boxed{a=1} \quad \checkmark$$

② - 14

$$(\log \frac{d}{r}) x^r + (\log q) x - \log 15 = 0$$

$$\log a = \log r^r = r \log r = r \times 0.17 = \underline{\underline{0.17}}$$

⑦ - f

$$\log \frac{d}{r} = \log d - \log r = \log 10 - \log 1 - \log 1 = \log 10 - (\log 1 + \log 1) = -(\log 1 - \log 1 + \log 1)$$

$$0, \psi_n^T + 0, \Lambda n - 1, 1 = 0$$

$$\mu_n^T + \lambda n - 11 = 0$$

$$n^{\gamma} + \lambda a - \gamma p = 0$$

$$(n+1)(n-3) = 0$$

$$\frac{11}{2} - \left(\frac{11}{2} \right) = 0$$

$$\log \frac{1}{15} = \log \frac{1}{r} = \frac{\cancel{\log r} + \log d}{\cancel{\log r} + \log v} = \frac{1 + \frac{1}{\log d}}{1 + \log v} = \frac{1 + \frac{1}{0.18}}{1 + 1.18} = \boxed{\frac{v}{v+1} \leq 0.18}$$

(r) - w

$$\log_{10} 4 = \frac{\log 4}{\log 10} = \frac{\log 2 + \log 2}{\log 2 + \log 5} = \frac{1}{1 + 1} = \frac{1}{2} = 0.5$$

(2)

$$\log_{\lambda}^{\lambda} = m \leadsto \frac{1}{r} \log_{\lambda}^{\lambda} = m \leadsto \log_{\lambda}^{\lambda} = rm \quad \cancel{\log_r^r} \rightarrow \log_r^r \rightarrow \log_r^r = rm$$

(r) -v

$$\log_4 15 = ? \leadsto \frac{1}{4} \log 15 = ?$$

$$\frac{1}{r} (\log r + \cancel{\log r}) = \frac{1}{r} \left(\frac{r-1}{r} + r \right) = \boxed{\frac{r+1}{r}}$$

$$r \log r = r_{m-1}$$

$$\log_y x = \frac{x^{m-1}}{y}$$

$$\left. \begin{aligned} (0, \epsilon)^{r_n-1} &= \left(\frac{1-r_0}{\lambda}\right)^{r_n-1} \\ \left(\frac{r}{a}\right)^{r_n-1} &= \left(\frac{d}{r}\right)^{r_n-1} \end{aligned} \right\} \begin{aligned} \left(\frac{r}{a}\right)^{1-r_n} &= \left(\frac{d}{r}\right)^{1-r_n} \\ 1-r_n &= r_n^r \\ r_n^r + r_n - 1 &= 0 \end{aligned} \quad \begin{aligned} n^r + r_n - r &= 0 \\ (n+r)/(n-1) \\ -\frac{r}{r} &= \frac{1}{r} \\ \bar{C}\bar{C}\bar{E} \end{aligned} \quad (r) - \lambda$$

$$\log_{\lambda}^{q_{n+1}} = \log_{\lambda}^{q\left(\frac{1}{r}\right)+1} = \log_{\lambda}^r = \log_{r^r}^r = \frac{r}{r} \log_r^r = \boxed{\frac{r}{r}} \checkmark$$

$$\log_r^r = a \Rightarrow r = r^a$$

$$\log_{\lambda}^b = \frac{r}{r}(1+a) \Rightarrow b = \lambda^{\frac{r}{r}(1+a)} \Rightarrow b = r^{\left(\frac{r}{r}\right)(1+a)} \Rightarrow b = r^{r+a} \quad (r) - 9$$

$$b = r^r \lambda^r a^r = r^r \lambda^r a^r \Rightarrow b = \epsilon^r r^r a^r = \underline{r^r a^r} \quad \log_{10}^{rb-a} = \log_{10}^{r^r a^r - a} = \log_{10}^{100} = (r) \checkmark$$

$$\left. \begin{aligned} \frac{-b}{-ra} &= \frac{1}{\log r} \Rightarrow \frac{ra}{b} = \log r \\ a &= \frac{b+c}{r} \Rightarrow c = ra - b \end{aligned} \right\} \begin{aligned} c &= ra - \frac{ra}{\log r} \Rightarrow \left(\frac{1}{\sqrt{r}}\right) \frac{c}{a} \\ \frac{c}{a} &= r - \frac{r}{\log r} \end{aligned} \quad (r) - 10$$

$$\begin{aligned} r \frac{1}{\lambda} \times r - \frac{r}{\log r} &= r \frac{1}{r} + \frac{1}{r \log r} \Rightarrow r \log_{14}^{10} - \frac{1}{r} = r \log_{14}^{10} + \log_{14}^{\frac{1}{r}} = r \log_{14}^a \\ \frac{1}{r \log r} &= \frac{1}{\log 14} = \log_{14}^{10} \end{aligned}$$

$$\Delta \log_{r^r}^r = \boxed{\Delta \frac{1}{r} = \sqrt{\Delta}} \checkmark$$